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Instructions : All questions are compulsory.
(if) T HHE 19 5 T AT 999 ¥ | TAF W W 1 3 ez 3
T HIW 1 K 799 7 90 T e )

Question Nos. 1 to 5 are very short answer type questions. Each

question carries 1 mark. Answer should be given in / word or /
sentence,

(itf) T4 A1 6 ] 10 Tk Fodsh W W 2 ey oTIaifed € | (yre- 30 9I)
Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)
(iv) T HF 11 R 22 T TN W T3 3 aeife § | (Y- 5091=)

Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
(v) 5 ShHI 23 W 4 3fep aTmeifed ¥ 1 (wre—ditm 70 W)

Question No. 23 carries 4 marks. (Word-limit 70 words)
(Vi) W % 24 ¥ 26 T TAF T W 5 aiw o ¥ (V-4
100 ¥I=3)
Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
(vii) Eﬁwa,aﬁwamﬁamﬁl
Draw clean and labelleg diagram wherever necessary.
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What is called Desorption?

IE-Tefen aifufiran 1 ae weie fafaa)

Write only the equation of Wurtz-Fittig reaction.

SHreifites uepreter § Fi gothe qon R e st & 1 41?2
Copper sulphate and pyridine are added in industrial alcohol.
Why?

4-FARN-AeA-2~ 37 AT i T G TR

Draw structural formula of 4-chloro-pentane-2-one.

TS ] IATEH R IHH SR Sl Fel T ST § 2

Where does the water present in the egg go after boiling the egg?

2.46 T NaOH (e 5eqam=40) & 100 cm? 51 # fao o
T | 39 faeas @t HieRa 91 S|

2.46 gm of NaOH (Molecular Mass=40] is dissolved in 100 em? of

water. Calculate the molarity of this solution.

Frfafaa sfufwa St S @ T 96 i -
2NH;(g) —— Ny(g) + 3Hy(g)

Find order of reaction and rate of the following reaction :

2NH;(g) — 2= Ny(g) + 3Hy(g)

PH,, 1 %% NH, % Faeriss | 7 811 ¢ | i 2
Why PH; has lower boiling point than NH,?

Fifderad i F wrfwor dfed fafew)

Write carbylamine reaction with equation.
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Ethylamine is soluble in water whereas aniline is not. Explain why.

yR-11  feHie W SR ¥ ST T wgn § 2 W i weral § WeE | [1+2=3]
What do you mean by depression in freezing point? Explain with
the help of graph.

W-12 3T ST~ ! WA (3]

Explain half life period.

weA-13 e R fexfort fafa - [1%4+1Y=3]
(37) 9E9
(%) Jgawv-Saad
Write notes on the following :
(a) Emulsion

(b) Electrophoresis

USA-14  HINSITH! B GHARY, (FoiaifEeht) | [2+1=3]
Explain chromatography.
WeE-15  SARI i foisten 701 T FHIH BRI SHeRT | [2+1=3]

Explain bleaching property of chlorine with chemical equation.

YgI-16 188 W F Tl & TEAaREd Ui ol SATE RIS [1%4+1%73]
(37) I e
(7) Tl fam=ma
Explain the foll\owing properties of 18th group elements :
(a) lonization enthalpy

(6)  Electronic configuration
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Explain with the help of crystal field theory that hexaqua Im

_ anese
(I1) ion contains five unpaired electrons while hexacyano mang

(I1) ion contains only onc unpaired electron.

o Seirom A ) R Y T T P S & 2 IR
T @ Q) syEn fafag)

Which halogen compound is used as fire extinguisher? Write its

[1+1+1=3]

name, fo_mmla and two uses.

Sad EEfaE gt fafay : [12+1'2=3]
(37) FARESH | et s

(7)) ufafesd s A ufue Vepiier s

Write only chemical equation :

(a) Preparation of phenol from chlorobenzene

(b) Preparation of ethy!l alcohol from acetic acid

(87) Gohist q1 () TS F el TN ¥ BA-W IR W B
?? [1%+1%=3]

What are the hydrolysis products of (a) sucrose and () lactose?

m%aﬁrﬁﬁaﬂwaﬁm@m [3]

Explain vulcanisation of rubber.

T verel ® @A fhan & e SR fofag (1+1+1=3]

Why chemicals are added to food materials ? Write three reasons

NM-39B




Uvi-24

We-25

fpafafad St TR : 1212 4|

Explain the following :
(@) Tetrahedral voids

(6) Doping

OR
Trafafaa =i aweEy
(37) qregrihcd
(%) g
Explain the following :
(@) Ferromagnetism

(b) Paramagnetism

T TRSINH Joagrs ol & 2 ufas auf sife) [142+2=5]
What is standard hydrogen electrode? Explain with diagram.
Hqr

OR

farera-vart da T € 2 3ua franfaft fo wfea weemsw)

What is electrochemical cell? Explain its working with the

help of diagram.

WA T G gegit fae SN g T fe 7o @

HHAEY : [142+42=5]
() =@

(7) A&
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Write general electronic configuration of transition clements

explain their following properties
(@) Magnetic property
(b) Catalytic property

ayerar
_ OR
ﬁ%&masaﬁﬁzamﬁﬁﬁﬁ:ﬁmhaﬁmammaﬂﬁﬁﬁﬁaﬂ#
WY Syrafen RIS ST ; [3+1+1=5]
(37 e
() H,S

Explain preparation of potassium dichromate and write its ionic

equation with the following :
(a) Iron
(6) H,S
-26 e 1 HHEET (e TEEte St Se) [1+1+1+1+1=5]
(37) TEEH-He SR
() @ sl
(%) Usrus arfafsean
(%) Tesi ¥
(2) e sl
Explain the following (write only chemical equation) :
(a) Gattermann-Koch reaction
(b) Stephen’s reaction
(¢) Rosenmund reaction
(d) Aldol condensation

(e) Cannizzaro reaction
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( 57) FrTE axferder @t e CO, @ F &
(&) i o F1 HRa Temieid @ i S §
(@) TERfeseme # fFA HON § &t Skl &

(7) TeEETEe W 3R NaHSO, d #t it &

(3) ufafew st Hi R Na wg 9 &t <t €

What happens when (write only chemical equation)?—

(a)
(b)
(c)
(d)
(e)

Grignard reagent is treated with CO,
Carboxylic acid reacts with alcohol
Acetaldehyde reacts with HCN
Aldehyde reacts with NatHSO,

Acetic acid reacts with Na metal
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